BEAMBMEERR
RANEEF# &

#1% % 1B
wERE 102 £01 A 31 B Ba#EHL
EhBREEFBE B R AaEFE ]
110100-4 HALEE 6,400 123000-2 BHEABUE 20,805
1130006 BEAGIER 14,405
& 5 20,805 = ] 20,805
FfE




BEAMEEMEEER
C BRAERA B MR

% IRE 1R
H 102 1 o e =
PHEER 102 £01 A 01 8 #& £ 102 401 A 31 B & B #eHa
£ 2
IA B Y3 ¥ 2
N 3 & % @ ¥
— g "
(—) LR
(Z)ABBA A 20,805
1.123000-2 BRATEULEL ' 20,805
PN _ 20,805
i Pz | 4 E 20,805
Z H :
(—)AHISTH 14,405
1.113000-6 5% AMNEER 14,405
GNEERL : 14,405
(Z)ARHAEER 6,400

1.110100-4 BALERF 6,400

i H ] & 20,805




B RAM D8 TR

%1% % 1R

BRI &
i g PHEEE 102 £01 A 01 A&z 102 #£01 A 31 At BmomEHa
# B B ¥ OB % AEEHEH PAEE KA T el B KAZ AR MBS
5 " - . BERKAL - e #E2AAH L o B HBEAHL
o il Il el I 2 BREWGD % | pmmgr | T | % | guwem frax Bst én k¢
03 %ggg%oo-s 0 20,805 14,405
20,805 -20,805 14,405
207 %2?&91130000'5 0 0 20,805 14,406
: 0 0 20,805 -20,805 14,405
02 %g%%ggg}g 0 0 20,805 14,405
0 0 20,805 -20,.805 14,405
02 ?%S?égi%{%ﬁﬁg - 0 0 20,805 14,405
e 0 0 20,805 -20,805 14,405
& 0 0 20,805 14,405
0 0 20,805 -20,805 14,405




